
Acid Base Indicators 
 

Example One 

 

Bromocresol Green is an indicator whose protonated form (HIn) is yellow and 

deprotonated from (In⁻) is blue.  The pKa for bromocresol green is 4.90.  Determine the 

most likely color of a solution containing bromocresol green at the following pH values: 

 

a.  pH = 6.90 

b.  pH = 1.90 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://www.evolvescience.org/ab2-ph-buff/acid-base-indicators-example-1
https://www.evolvescience.org/ab2-ph-buff/acid-base-indicators-example-1


Example Two 

 

Malachite Green is an indicator whose protonated form (HIn) is yellow and deprotonated 

from (In⁻) is bluish-green.  The pKa for malachite green is 1.30.  Determine the most likely 

color of a solution containing malachite green at the following pH values: 

 

a.  pH = 0.30 

b.  pH = 5.30 
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Example Three 

 

Bromocresol purple is an indicator whose protonated form (HIn) is yellow and 

deprotonated from (In⁻) is violet.  The pKa for crystal violet is 6.40.  Determine the most 

color of a solution containing bromocresol purple at a pH = 4.40. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Example Four 

 

A titration between a weak acid and a strong base has an equivalence point at pH = 

8.25.  Which of the following indicators would be the best choice for this titration? 

 

a.  Indicator A   (Ka = 1.6 x 10⁻⁴) 

b.  Indicator B   (Ka = 1.0 x 10⁻⁷) 

c.  Indicator C   (Ka = 5.7 x 10⁻⁹) 

 

 

 

 

 

 

 

 

 

 

 

 

Example Five 

 

A titration between a weak base and a strong acid is shown below.  Which of the following 

indicators would be the best choice for this titration? 

 

 

a.  Indicator A   (Ka = 8.6 x 10⁻²) 

b.  Indicator B   (Ka = 1.0 x 10⁻⁶) 

c.  Indicator C   (Ka = 5.7 x 10⁻⁹) 

 


